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Science -Part 1 Physics & Chemistry

Example for Different Types of Questions
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Model question paper - |

SOCIAL SCIENCE

Four alternative are given for each of the following question/incomplete statements. Choose the most
appropriate alternative and write it in the space provided below each question

F PUVE ¥alihl Cx@A C¥ELD ChuPUKU £AGH ¥AiiAdAIL GvgUYER Ea, AVvz. CalUy° ©zi
JEP2Az Gvg@£ll Djt PANgi® eAUz°Aill ¥Atd Gvg2£l 8g-ij. 15%1=15

Which one among the following is the characteristic of Ryotwary System?

a) The land revenue was fixed on the basis of fertility of land and irrigation facilities
b) The land revenue was fixed on the basis of production of land

c) This system was introduced in north_western and central India

d) The former revenue collectors were recognized as permanent owners of the land

F PUVERIUYS givahj ¥zwAil ®PtUvAaal?

J. PAzZAAIRREL " E«lAil ¥@2vv 2lvi cigha] E® iz DzAgz @M aU¢ AUk,
©. EPAZAAIRREN GvAzE£AIL Dzigz @2 oUC ¥r_iwzgi.

1. F ¥zwAilEl ¥22) ajvi aizi"Agvz° eAju vAzgh

r. »Az PAZAAIA 2_E° 2iAgiwz@gEl T ASAAIA MgAilgEAV 2iArzgi

The Government of India Act 1919Ad is an important step in shaping the present parliament because;
a) responsible government was started

b) local self governments were started

c) bicameral legislature at the center was created

d) The subjects of administrative department were divided into three list

1919 g “"Agv _gPAgz +A_£ EACE _A_VvEl gk} ia° g§olajiR@Avz KPAzg;

J. d2iAjAillv _gPAg2EN DgA©,  A-ivi

©. WAk _gPAgREN DgA©,  A-ivi.

1, PMza&® Jggh ,z£UY% A £ 77 gatvi

r. SE93 Qwolbody @a’oﬁamﬁm& WRTY TENFON DONBIHTVOWD.

Venkatappa Nayaka of Surpur has secured an unique place in the first war of Indian Independence,
because he,

a) shot himself refusing to accept British dominance

b) refused to pay the English the subsidy

c) upset by the doctrine of lapse

d) made the Zamindars to revolt aganist the British

_Ag¥igz 2API¥ E£AAIIPEL ¥ael AvAvie AUAiz° MAzA CER¥ajaiz A£ Uh1lzAg. KPAzg C2gh
J. QX0 MOCRINO0NT, LBLO JTIFOY TN BRRTI o

©. sTFIINIT, WesmOR IeEIY 1. zvP EvéAz A _wzEA

r. QEES QOF RCTYTZW, WOBEH[OZ BRRTI

76
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4. Junagad state refused to join Indian Union as
a) The Nawab of Junagad wished to create new country
b) the majority of the people in junagad wanted to join Pakistan
c) Pakistan occupied junagad State
d) The Nawab of Junagad wanted to join Pakistan
difAUg _A_A£2l “"Agvz MPEIP _Ag®i aghPjivi. KPAZg:
J. £2A8FL ©F, ghdi _A!, ®L AiEkatzEl
©. 8°k ASA diflUqz ¥edvh ¥AQ A£P _Ag®A Ealtzgi
1, ¥AQ, A£3] dIEAUgRER DPedtvi
r. £2ASEL ¥AQ_AEP _Agi® EAVV 2P¥riz£i,

5. As aresult of Meiji restoration
a) Commodore Perry secured the right of trading with japan
b) many European countries entered Japan for trade
c) Japan developed as a rich industrial country
d) Japan followed a policy of isolation
AjAF ¥iEgAURIEZ ¥julaialy
J. PE2EQEAGT ¥j d¥AET £EACU 2A¥Ag 2iAgia ©PEL ¥qz£l
©. TomOW 0NTReLT Uae&ﬂ% DOITPTTN  BTT TReSATY)
1 205 WO &3 3 0% m%mf\ @22)56% TROOD
r. d¥AEi MAZI ¥edPvA ofwAil£l CEL JJTVA

6  The event which was responsible for the end of the second world War was
a) the USA dropped atom bombs on Hiroshima and Nagasaki
b) Hitler commited suicide in Germany
c) United Nations Organisation was estabilished
d) Italy was defeated in Africa
Jgq£h 2icpAiliz c®®) PAgt2Az WIE
caiijral »gEA2a ajvi £AU_AQ £UgU% @A CEAAAT zA 2iArvi
» 1 gEA DvPVi 2iArPEAQEM
«x AN A¥EAIA-AVA
Em°Aill D1Béz° _EA°_@®nvi

S POG

7 The main objective of operation Black Board Scheme is
a) Universalization of primary Education
b) stressing adult education and female education
c) Providing sufficient teacher and infrastructure to schools
d) providing education to women and backward classes
P¥i ©®U AiZADEAIL 2URI GzA+2iEAZg
J. ¥hs<iP 2Ptz _i2dwiRgt
©. 2Ail_lg 2ivik 2i»YA 2PEP MVl
1, AR AEv EPAILD 2hvi 2PPgEN +ATUK%U MzV  kalzi.
r. ai»YyA alvi »AzMz 2UsU%U 2Pt MzV ialzi.
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10

11

The idea of gender equality come into force when

a) poverty is eradicated

b) dowry is eradicated

c) equal importance is given for men women in public employment
d) The economic inequality is sloved

R ¢ TOIVRD FIPIT D0 TZ, 23001t 2TLIeTTIT

J. 8qvE£ c2UESRE DU APA

©. 2gzQu ¥zw o2ES®E DU "APA

a1

r

GRe

pfefple) emcixaeﬁcﬁ@ &0 TNRON FRWD P@TOD QTR
DydP C, a|A£v OaAgu DU "APA

Developing countries are struggling to achieve economic self-sufficiency because,

a) They want compete all developed countries

b) There is no value for political independence unless to achieve economic development
c) They want restructure their economic and political inequality

d). They want to solve the problem of economic inequality

I ESERS) Uaaémfo BHFT TBOOWT FPBL BHCTIWII. DFOTT :

J. @@m}o DY VYT, ﬁraoacj angmiraceé ATV wofnm:écﬂ’

©. DyoP . Aa®A§£ °/EA¢ZAU alAvagAdQAAlAz _AvAveR " JAzA £ACP

1 CaAU%A vai DydP 2ivi gAdQAAIA ¥jLWAIAEN ¥A£g| ga,®k 8Ail_ ivz.

r. CalUvi DydP C_ 2AEVAIL | 2i_ AIREN ©EAU Ar ®h 8Aik_ivz.

Rainfall occurs at few places in India during summar due to

a) high temperature and hot dry winds

b) local heating and convection currents

c) relief features and monsoon winds

d) decrease in temperature and increase in pressure

“"Agvz P@A| ¥a#+UYv° AU PARZ® @Y, OMvz. KPAZg

J. ©8 éas% YVITPOT W) W MY

©. x@eo:o PTPOT ) TPROT TFOTNH

1 é‘bé‘bcﬁ fmeﬁ @69@ aiaéa TRBRT [PWDIAL R, TR GOTW TROT B 63233 033

Tropical evergreen forests are found where there is

a) high temperature ,high humidity and low rainfall

b) low temperature ,high humidity, low rainfall

c) high temperature ,high humidity, heavy rainfall

d) low temperature, low humidity, low rainfall

YO TOORT I, BOTLOFT TN DY FOBWWRTOTT
WHT YOTPO3, VHT 30008 DB TR T DR
TR NTPOT YT 30008 DB BRI WY W
6323% YOTROT, é&%% 30008 DB VHT T VDD
BRI mmmoé, TR 3003 D) BRTW DY RERF)T.

S POG

78

SOCIAL SCIENCE MODEL I



JANd «eAfA

12. The objective of baramar energy station is
a) producing large quantities of solar energy
b) conducting research in the production of tidal energy
c) carrying out special research in wind energy
d) producting large quantities of geo _thermal energy
hghaigi +Q A2gz Gzli+
J. CCP ¥&iitz° _Eg «zAVElL GvAc iaizi
©. G8g«hv «zhvi +QAIk GVAZEAIL® _A+EAzE 2ikgiaizi
1T TRT 330D Wi D3R FOZRGTS SRBWRYTH
r. CCP ¥&iitz® ~"E+AR QAILEN GvAc ialzi ...

13. Railway wheel and exel plant was estabilished at
a) yelhanka b) chithradurga c) perambur d) Kochi
OiRIUA° @kvii CZAUY: VAIiAJPA PASAGE _Al1gia W
J. Ail®PAP ©. avgAd£i 1. ¥gA8Kgi r. PEa

14. Indian Grain storage centre is in
a) Hapur Db) Bhopal c¢) Mysore d) Suratgarh
“AgwhAil ZAE AUt PiAzemi® Y
J. Oh¥Egi ©. 2 _Fgh 1. E¥A T r. EgQViwgi ...

15. The aim of national small industries corporation is
a) providing training for workers
b) designing the industrial machines
c) providing guidance to small producers
d) helping to market products produced in small scale industries
gAfTAAIL | PIUAJPA Uiz Ukj JAzg
J. PA«AdPJU vg Aw ohgi@izA
©. PIUAJPA AIBAVERLER «EA UEY:, kalzh
1.t GvAzPjU 2iiUdz+d£ oigiaizi
r. .t PUAJPUY GVEILY: 2iAghIP £g2l oigi@izi

I1. Fill in the blanks with suitable words
ongia YVUYEN _EPRAz ¥zU%AZ ~"wd RiAr

16. The English commanders who defeated Bussy at wandiwash was.............
OO, WIORTOTIY AReDIT YONCHT FemTod

17. Ancient Mesopotamia is modern......................
¥igAVE 2l ¥mAA«<iAiL EZ| ¥a+ EACE

18. National adult education programme was introduced in the year ......
TOQEOD [ONHT 380 0IRERTON FTOONFTT 2ION 20T B[RF

5*1=5
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19.

20.

22,

23.

24,

25.

26.

The highest temperature in India is recorded at ..........
$OTBTY ©e ﬁzé% YOTPOT  TIODONTVT 5@@

The most ancient export of India is ............

"Agvz Cw 2Rz ¥iaE g¥i DVz.

21. Match the following list ‘A" with suitable given in the listb 'B' 5*%1=5

J ¥nAii°gia CAxU%U © ¥nAil°gia _jAiilz Gvg2£ll D1 8g—ij.

A B

a) DR Rajendra prasad i)  Universalisation of education
gA| ghelAza¥egdzi 2Ptz _(2dwiegt

b) Jawahar Lal Nehru i) The first trade union
daeigi A £9gi ¥ PA«ioPg (AW

c) N.M. Lokhande iii)  Chairman of drafting committee
JE£i J&ii T EARAQ Pgqgh . «iwAik CzP

d) Vittal Ramaji Shinde iv) leader of interim government
«0 i ghRiif 2Az ajzaila¢ PAdgz EAAIIP

e) Jyothirao Phule v)  Father of renaissance
efElw ghai ¥i— ¥ifgifiaz tviajo

vi)  Depressed classes mission
zA88® 2UBUY: AW

vii) President of constituent assembly
. A«zAE gZEAiIk CzP

viii) Home rule league movement
OFARii gk i ZYdAy,

Answer the follwing question in a word or a sentence each
F PUVE ¥aiUhU MAZA ¥z Cx2A 2ipiz° Gvjt

What is Khalsa?
Sk® JAzghei?

What was the effect of cultural revolution in china?
alfAze _AA_WP PARVAIR ¥juARAUYAER?

Why did America enter the second world war?
Caiijpal Jgqfed 2ichailiza£l KP ¥ad21vi?

What is the greatest achievement of the World Health Organization?
«* DgEAU A AIL 2CA AzE£ KEL?

What was the aim of the ASEAN?
@736033 DXOIT TOFNY WBRWT OO DT

9*1=9
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27. How did the USA come to know India’s position regarding nuclear power?
C2iAJPP "Agvz Cti+QAil SUVE o@®idl Cjaivzi eiu?

28. Why are the mangrove forests called sunderbans in the ganges delta?
AjAAUERRT CgtilU%ER UAUAECAIR " E«lAile AAzg8E JAzA KP PgAilivig?

29. What is transport?
JAJU JAZgAER?..

30. What is Green Revolution?
o1gi Pise JAZgAEA?

V. Answer the following question in two sentences each 16*2=32
F PYUVE ¥ahU Jggh 24PU%° Gyjt

31. What were the terms of treaty of Madras?
ajzgh i M¥Azz +gVAUVAER?..

32. Mention the result of the first Anglo Maratha war?
afz® DAUEA-2igho Ailiziz ¥°VAALUYVAEL?

33. What are the advices of Charles wood seen in the present system of education?
EACE 2Pt 22 Ail° PAQh 8gia ZATi@lgif | ®@PUYAEL?

34. How was Quit India movement of Isure different from the movement of other places?
F.EJ£° £qz Qmi EArAiiA zviay, Evg ¥+ ZVianVAv Ol «OflR2AVzZ?

35. Why did Sardar Patel decide to launch "police action' on Hyderabad?
.gzZAgi ¥mi®gh ©izgh ACE @M ¥/ERS T PAAIIADZQUAIAEN PIUAY®L PAGEUYAEL?:..

36. Give any two reasons for the failure of league of nations
oo ROTT DPOIN 03TDTYTOTTR T FOTNTI, 93

37. What are the aims of the Non - Aligned Movement?
D°¥ ZyhaypAik GzAtUYVAEL?

38. Which are the illeagal methods used for profiteering?
TAPEAQVEP CEL_J i@ CEwP 2iAUSUYVAEA?

39. What is the role of the international court of justice in the U.N.O?
«x _A_Aik° CAvg gATAAIA £AAITARAILZ ¥&HIR YAVEAEL?

40. How are the hauman rights protected under the indian constitution?
“Agvz | A«zAEz° 2iAER OPIUYER AU gQ, AVz?
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41.

42.

43.

44,

45.

46.

VI

47.

48.

49.

50.

51.

52.

VII

53.

Differentiate between the western ghats and the eastern ghats.
y2aj Wl ajvi ¥£28 WIUBVgia 2vii, ULAER?

How is coal formed?
P°Zz®l ©AU gZEUEArz?

Consumption of cement is the index of the country's progress. How?
1ajAmi 8Y%P MAzA zh+z COR¢ UWAIAEN wy dvz 2AU?

Mention any two disadvantage of Air transport
apAilh | AjUAIA AiiAdlzAzgE Jggh CEPERUYVEN wiht

How are small scale industries helpful to rural areas?
“Agvz UlgiAAvg ¥a+U%U |t ¥&Atz PIUAJPUYA AU G¥AilPaAva?

Why did the third five year plan fail to achieve its objectives?
alEgEh ¥AZ2ASP AIEADE VEI GZIA+2EN Fohj i2° «¥@2AU®L PAGTUYVAEA?

Answer the following questions in three to four sentences each
F PYUVE ¥aihU 2Egh-£AR1 2APUY%° Gvjl

Give the reasons for the decline of the Portuguese power in India.
“"Agvze ¥EAZASVA g C2EWU PAQEUYEN PEr

Why did the first war of Indian independence fail?
“Agvz ¥a2h | AvAvag AUABH «¥®UEArvA. KP?

How is India trying to eradicates poverty through intensive rural development programme?
L.Dgi.r.!. AiEADEAIL CrAil® “Agv@l ©AU 8qvE o2MESRE 2iAg@L ¥adiwi Avz.?

How is soil erosion prevented?
ajtg _avagl oiu vqulialzi?

what is agriculture? Mention different types of agriculture followed in India.
Pl JAZQAEA? ““Agvz©® gArAilegi® ««z 22 AAil ¥zZWUYED wht

India is facing adverse balance of payment since 1947. Why?
“Agval 1947jAZ@K ¥aPE® ¥A2w JzAj iwz. KP?

Answer the following questions in eight sentence each
F PYUVE ¥aihU JALA 24PUY° Gyjt

Explain the Quit India Movement,
“"Agv ©OLA VE®V' ZYAWBAIMEN «2j1

6*3=18

3*4=12
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54. How do you prove that India is having good relationship with Russia?
%003 w) deu—aécirao@ﬁ NI FOWOT BROOT O Ter BRRFRND?

55. How is agriculture helpful in Economic development of India?
“Agvz 2@ _AAildl DydP COR¢AIA® CAU | ChAilPaivz?

VII1.56. Draw an out line map of India and locate the following on it
“"Agvz EPAIMEN 8gzh Czg® PYU PANgia _MUY%EN Ulgiwt
a) Tropic of cancer
PPASIP  APAae@iv

b) The western Ghats
¥23ai WUV

c) Mumbai
A"

kkkkkkkkkkkkkkk

3+1=4
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Model question paper - Il
SOCIAL SCIENCE

VAR «<eAEAZ ¥ARYABE- 11
F PYVE ¥ailh) Cx@A C¥ELD CAPUKU £AGH ¥AiiAdAIL GvgUYeEl _£a, Avz. CalUy° ©Zi
JEPRAz ¥EEd Gvg2Ell D, GvgP PEngia elUz°Aill §g—ij. 15%1=15
Four alternative answers are given below. Select the right one and fill in the blanks

1. Uagigi dEg i gh kLAl “Agvz° 2£z® AjU giel 2iiUsAEl ©AQrzEl,

Ezg Gzli+

J) 2fi¥Agz CEIPARPAV ©) DydP COAEUAV

1) _AEA ¥qU¥% Z®EUAV r) ©PigPAv
Governor General Dalhousie laid the first railway line because

a) for Trade b) for Economic development
c) defence purpose d) Co-operation

2. 19359 +A_£ “"Agvz _A«zAEz EwPA_z° MAzhk zEq °ehiilvz. JPAzg
J) Ezk ,vAvaE'Agvz ghelAUP DzAg2Avz. ©) Ezi "Agvz EAUP PAgt@Avz.
1) EzA ¥juhA2ipPAj +A PAAUREN galz. r) Ezh “AgvP d@AAj PASgREN ohrz.
The act of 1935 was a great development in the Constitutional of India because of
a. Itis animportant step in shaping of our present constitution
b. It caused the partition of the country
c. It formed an effective legislature
d. It gave responsible government to Indians

3. PEABIPZ® £qz Z A eldi zviawAile F WIE £q¢g°®.
J) of ChU%ER QivialzA ©) ReAELAIEN ®EN 2iAq~ A-ivi
1) UAg ziaruy @i zAk @il Alv r) A A PA AdiUYA 2iazi®,
This incident did not occur in ‘Mysore Chalo’ movement in Karnataka

a. breaking of railway tracks b. the loot of Tresury

c. to attack on Grama Sabha d. School College were closed

4, UERRA «B2EAZEA ZYVdawAil T viaioh
J) ©ZiJ£Ei. PiAdiee ©) PATA gF 1) nOPIAK ) _A«<h g2iAEAZ wixdgh
The father of the Goa Liberation Movement
a. H.N. Kunjuru b. Qasim Razvi. c¢. T.B. Cunha d. Swamy Ramanand Tirth

5. F ohwAill Jgg£A 2ieiAilizP PAgE2AivA.
J) d¥hef « guh Az ©) Tm3 3wy e
1) C2MjPAz DyoP mhAw r) “Agvz C°¥ oAw
The policy responsinble for the second world war was
a. Expansionist policy of Japan b. Neutral policy of Rusia

c. Economic policy of America d. Non Allignment policy of India
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10.

1L.

12.

13.

14.

“igvzegi® Sh_V @®Ailz POt 2ivi GQE PASAGE

¥i1 gh F 2iE@U%U "~ PEQ°®

J) HZAJP 2iE@U%U ©) AiAE«hAil 2iERUKU
1) A, wP RiERU%U r) vAAwee2iERU%U
The Fascists had no respect for values

a. moral b. Human c. Cultural d. Technique

A«zAEz F wzi¥rAill 2Pt2£l 21E@ " £v ©PA JAZLA _Ajz.

J) 42£A ©) 63£A 1) 39£A  r) 93£A

According to this Amendment of the constitution education is made a fundamental right
a. 42nd b. 63rd c. 39th d. 93rd

'PAY ¥EA A 2£] DgA©1ZA Ez£M vqUI®I

®) FgMMWEIT W) WEII  R) PIRT Q) TR0
The government has introduced COFEPOSE to prevent

a. Smuggling b.Poverty c. Coruption  d. regionalism

OSOWTIC WINPT KHeTTIE QTR Uaa‘%mﬂ [ANCESI "erd 3B030ZTD
J) DzieP dUvki ©) 2izPA°AE dUvi 1)vaAlA duvi ) 2iPA°AE dUVA
The countries which did not join any of the power blocs is called

a modernworld b. Medivel world c. Third world  d. contemporary world

Bean 5ot Sl PR0BTY Ve BT YOTPOTLTLY  FITED

J) EAlAéQgtU%A NgAiiAv “olvirlz _]AZ ©) gAwa&'A¥AVgAaz JAZ

1) d£_ AS: ©ZAVgidizjAz r) . 2lizeezkg2AvgidizjAz

The Temperature is high during summer in North India because of

a) oblique rays of the sun. b) cold night ¢) over population d) distance from sea.

PEABIPZ PAQiU%° F 2igUvi ©ZAV PAgA8giva
J) 88K i ©)NPi 1) 2Az 1) Phvq

The forests of Karnataka have this type of trees.

a) Babul b) Oak c¢) Sandal-wood  d) Cactus.

"Agvz Vi® 2ivi Co® DAIEAUR| PEgz 2£z® A« EzAVZ.

J) ¢UAAIIT  ©) TAATA ©of 1) E£Ogi PAWAIIA  r) CAP Axg
The ONGC drilled the first oil well at :

a) Digbai b) Bombay high ¢) Nahar Katiya  d) Ankaleshwar

J) VISCO ©) TISCO 1) MISCO r) lISCO
India's Iron and steel company under private sector is
a) VISCO b) TISCO c¢) MISCO D)IISCO

fvg .2k IU%ER 8UPj ®L PEASIP _gPAg PIUEAQ AiEAdE
g g 5 >
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J) ¥. @k «&  0©) giv «hvae 1) _AiM 1z r) ¥APAei PAAIiOPEH
The Karnataka govt. introduces this, for the help of farmers
a) Crop insurance b) Raitamitra c¢) Swayam Siddha d) package programme

15. _t PUAJPU%° P®, 2iAgia PA'NOPjU 2ivih GvizPjU 2iiUdz+d£ oig®l galz A
J) gATAAIA | EPIUAJPA nU2)  ©) PIUAjPA «£A, PAAZee
1) “"Agvz PUAJPA 2iAq¥%  r) PAAZaBIUAJPA A
To Privide guidance to craftsmen and small producers this organization was estab-

lished
a) Central Small Industries Corporation b) Industrial Design Centres
c) Indian Industries Board d) National Small Industries Corporation.
II. SA° ©1 elU2£l _EP ¥zU%Az ~"wdRiAr 5%1=5

Fill in the blanks of the following:

16. 2iizaAiIAE2EN ¥Ebei»1z 2Ez@ zAt :
The first country to launch voyages across the sea was

7. =ededod w9n" INomR, Towseodson B3 WOFT NRCEOND, BT THE
The Berlin wall was demolished in the year

18. UhsdAt 2i»YAilg «PA_P CEIaRiArPEQ®I PAAIASPEHAEN ©«iPAY: AVzZ.
The scheme enforced for the development of rural women is

19, ajjgival PEAGRIAQ® WAQP 2iVAILER vgivz.
winds bring rainfull to the Coromandel Coast of Tamilnadu.

20. ¥AEgi g¥h 24¥gP Gvai nz+3£2Avz.
is the best example for Entrepot trade.

1. 21. ©EA¢T §g—hj/Match the following 5*1=5

¢aliR _PASg/Dual govt n.©.2iPA"/T. B. Macaulay

e TR BeI/Stri Purusha Tulna xA2}_i ¥£i/Thomas aine

&£z® PAEAEL _®PUAg/The First Law member gASmI® Pi&ti/Robert Clive

PAACERIA »Az/K PA Adi/Central Hindu College  VAgA "A—A 1Az/Tarabai Shinde

©_gAAv aAvP/A famous Thinker Dia " Ami/Annie Besant
gheldghaiaEio£ghAiii/Rajaram Mohan Roy
gA ©.Dgi.CA™ ", (gi/Dr B.R.Ambedkar

©T Q0 0o

IV. PYUVE ¥ai)hU MAZA 2APiz° Gvj1j 9*1=9
ANSWER THE FOLLOWING IN ASENTENCE EACH:
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22,

23.

24,

25.

26.

27,

28.

29.

30.

31.

32.

33.

34.

35.

¥igAzg M¥Az2l AiiAgAYU £q-Avi?
Between whom the treaty of Purander was signed ?

C2AJjPal 2EZ@®EA «+ Aillz2EN ¥&d2, @) PAGERAEL?
Why America entered the First World War ?

BRTES O3ReBTONT), LRFT D O 0TZ?
Why Marshall Plan was introduced by the President Truman ?

‘«mEA CCPAGREN AiiAgh Z A-i, kagh?
Who has Veto power ?

2003g° C2iAjPA EgAQE 2~ zA% 2iAq®A PAGERAEL?
Why America attacked Iraq in 2003 ?

'CalAjPAiz UAACA" JAZA AiiAgER PgAilivig?
Who is called Gandhi of America ?

UAUAECAIA 2MRd " E«lAil PAQEN ' Mzg 8E' JAzA KP PgAiliagh?

The delta of the river Ganga is called as Sunderban, Why ?

“"Agvz CViAv ©YAik PivP 8Azgh AiiA2izi?
Which is the oldest and artificial port of India ?

' ATA ghdi JAZgAER?
What is a welfare state ?

PLVE ¥ad)hU Jggh 2APUY° Gvjij.
Answer the following questions in two sentences each.

aP zhagid MqAilg gAdQAAIA _AZEUYER wihj.
What were the political achievements of Chikkadevaraja Wodeyar ?

D 3O, WONTTRTD [PAT FTINEY, BOWWA.
What were the achievements of the Diwan K. Sheshadri lyer ?

givaij ¥zwAill GYia givg »v2El gQivi. ©AU?
What are the features of Ryotwari system ?

F.EJE dE Z A eh®i ZVARBAIMEL CXO¥ETLI2AV _AWnizgh <AU?

How the people of Isur organized the Quit India Movement ?

.9zAg ¥mi®gh ©izgh "ACE° ¥EA°R T PAAIIABZQU £q,®h PAGEUYAEL?
Why Sardar Patel decided to launch 'Police Action' on Hyderabad ?

16*2=32
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36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

VI.

47.

48.

49.

eﬁx‘ﬁ%’ TOF NPODONLD QT ﬁdwﬁ%j&b &P,
What were the causes for the failure of the League of Nations ?

AfZ®EA PE® AilizP PAQEUYAEL?
What were the causes for the first Gulf war ?

AiifdlzAzgE £A®N ,2iAd WAVP Z1ianPUvER © §2.
Name any four anti - social activities.

«* _A_Aik Jggh AZEUYER wit.,
Give 2 achievements of UNO ?

1948 d@ SDEVS{TJON 00T TRCR ﬂ%‘j?\b &P
Which declaratlon was made by UNO in the year 1948 ?

Gvg “Agvz £CU%UE zQt ““Agvz E£CULUE Egia 2 v ULEN wist,

Give at least two differences between the north Indian rivers and the south Indian rivers.

AjjAURh i CCJE G¥AIEAUUYVAEL?
What are the uses of Manganese ore ?

PIUAJPUY: A¥EU "APAz CUVi CAUYA AiiA=jal?
Which are the factors needed for the location of industries ?

"Agvz ¥22i wigz £ARL ¥&IR 8AZgIUVEL ©_ j1
Name the 4 important ports of the West Coast of India ?

Ule ajvi & ¥&iitz PUAJPUY: AiiARizAzgk 4 2k IULEN Sg—ij.
Give the four problems of cottage and small scale industries.

Al EgERIL ¥AZ2ATOP AIEADEAIM «¥@2AUGL PAQEUYVEN wht.
What were the causes for the failure of the 3rd Five Year Plan ?

PUVE ¥ail)hU 2iEgh-£ARK 2APIUY° Gvjij
Answer the following questions in 3 to 4 sentences.

1857g zAUAIA ¥JuARAUYZER wht.,
What were the results of the Great Revolt of 1857 ?

YEAZIOVA, g A¥POCAZ ““Agvz 2 OAjz ¥JuhRiUYAER?
What were the impacts of the Portuguese contacts on India ?

CEPgVAIL o@igul _gPAg PIUEAQ PBEUYAEA?
Which are the various measures taken by the govt to eradicate illiteracy ?

6*3=18
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50. «ixee’A AAiA JAZgAER? Czg ®PEUYAER?
What is Mixed farming ? Which are its characteristics ?

51. ««zEAzZA+ £¢ PE2 AIEADEVY: 2HRI GZA+UYAER?
How are multi-purpose river valley projects useful ?

52. "Agvz DydP CORACAIL® «zA2 2i¥igz ¥ARIRVAIMEN Zadt.
What is the importance of foreign trade in India's economic development ?

VII. F PYUVE ¥ahU JALA-Ovi 24PUY° Gvjij.
Answer the following questions in 8 to 10 sentences.

53. «x A Ak AZEUYEN «+Aq2,
What were the achievements of UNO ?

54. E¥vh CAxUY: PAAiAOP&EZ AIEADEUVEN wht.
Which are the important programmes of the Twenty Point Programme ?

55. _AvAvEeCEAghlz® KA IZAZZEA, g ¥AVEEN whl,
What was the role played by Subhash Chandra Bose in India's freedom Movement ?

VII1.56. "Agvz £PA+AIAEN 8gzA PYVE | YUYEN Ulgiw

1. Cghay, "1 2. £26zA £¢ 3. Cailv_g
Draw an outline map of India and mark the following.
a) Aravalies b) River Narmada c) Amritsar

*khkkkkhkkkikkikkikk

4*3=12

3+1=4
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Model question paper - 111
SOCIAL SCIENCE

JANMd <ALz YAENBE- 111

Four Answers are given for the following questions or four incomplete statements. Choose the best
answer and write it in the space provided. 15*1=15

The first kannada newspaper was started by

a). S.N Hardikar  b). Moegling c). Charles Wood d). Bal Gangadhar Tilak
PEIqz 2£z® ¥wBAilEl E2gl DgA©1zgh

J) J,iJEi. @rdPgi ©) 2EAVAUI 1) ZAid @lgi r) TA®UAUAzgI weP

By this act T.B. Macaulay become the first law minister

a). The Act of 1773 b) The Charter Act of 1813
c). The Charter Act of 1833 d). The Charter Act of 1853
F +A £z ¥B&g 2IPA~ 2£z® PAEEEL  ®PUAgEAZEL.

J) 1773 g #A £ ©) 1813 g +A £

1) 1833 g +A £ r) 1853 g A £

The Raja of Mysore heard the advice of this Diwan and did not make arrangements for the hoisting
of tricolour

a). Arcot Ramaswamy Mudaliar b). T. Siddhalingaiah

c). K.C.Reddy d). Alur venkata Rao

E2g 2iAvi P, @2icighdgh 2k £j£° d2i A ,gPAg Al j2 otdAIlREN ¥Bm °®
J) DPAdmMi gA2i A"l 2Ez°AiiAgi  n. 1z°AUAIA
1) P. 1 gr r) D®Egh 2APIghai

4. Sardar Patel launched 'Police Action' on Hyderbad because of

a). to control the Rayakars

b). to Persuade the Nizam

c). the Nizam banned the activities of the Congress

d). the Nizam imported weapons to fight against India

.zAdgi ¥mi®gh ©izAzzi A _AEz 2 ¥EASA T PAAIIADZgu PIUEY®L PAgt
J) gehPAggEll @il 2AP®I

©) uelRif aigace @i

R) QB FORAT BEDTLIRYI, HCOATO0T

r) oeldifl “igvz «giz OﬁEAgAq®A +_A_UvEN Dizi 2ikrPEAQZIjAZ

5. The Communists organized a bond of revolutionaries all over Russia for this purpose
a). industrial development b). Collective farming

c). to end the rule of Czar d). Welfare of the working class

smmm d—aémcsoé 590830 ANE TWATT emdeé

J) P UA_] PA ~"Y2€UU ©) _A2iE»P AUAal/z a u
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6.

7. To provide market for the products of SC and STs, this has been established

10.

11.

1) ghiAgi D¥%P CAVIUEY% ®L 1) PA«idPg »vgPul

UNO was established for this purpose
a). to establish permanent place in the world b). to protect economic security

c). to provide social justice d). to prevent third world war
ébeﬁ~o~o$aab COIRY ROFPNY AITTY ARID BT COTIT—

«tz® ag+ w Al @l ©) DydP ““zee Al ®i
1) A2GAFP £AAIL MzV _ ®) r) 2iEgEA aAOAAIAAZ vqv 1 ®i

a). National Literacy Mission

b). Tribal Co-operative Marketing Development Federation of India
c). LBR.D

d). Jawahar Rozgar Yojna

TOSH TONTND YOIVOAT JIRASR QI m&%% WBNIFD 88 szoﬂ@ofma‘)o‘)1 m@&ﬁ@aﬂd
RD)TYEOD TFITID mo@f

©) m% i PE C¥gna| AjAPONAUT g2@¥i2IAMI ¥quA+£i D¥i EArAiiA

1). L.Dgi.r.;.

r). d@i°g gEheiUAgi

The scheme which is established for the development of rural women

a). Indira Women Welfare Programme b). Swayam Siddha
c). Rastreeya Mahila Vimochana d). Shtreeshakthi
UhgiAAvg 2i»YiAilg «PA P CEARRIArPEN +A £

C).EACQA @i»Yih AIEADE ©) A1z

1), gATRAIL ¥k «2EAZE r). 1 +Q

"As no one is a slave, no one is a master" this was the belief of

a). Abraham Lincom b). Martin Luther King

c). Nelson Mandela d). FW.Clark

‘AliAgE UL A2ig®, »AUAV AiiAgE MgAilg®' Ezik E2g AP
C). CE®IA °APEI ©) 2iANAEI ®EXQi 1) £O£i A A r).J¥i.q8K PPid

Rain comes during summer season in some parts of India due to

this reason

a). long day b). dust storms and hot dry winds

c). local heating and convection currents d). distance from the sea

"Agvze “"A1U PARZz° P®23l Pq @i OMiRlzA- PAgt

C) ¢AwWd °URL ©) +*ARCAz PErz MEUA: 2ivi z/E%E ©OgiUAY
1) ZFocod wgd DH, TPOS Twes r) . 2lizeezig2ivgidizjAz

The govt. has formed Natinal Forest Policy to
a). celebrate vanamahotsava b). protect and conserve
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c). To provide raw-materials to industries d). protect wild life

gATAAIL Coti oAwAIAEN g/ . ®F PAQE2A£AZQ

J) 'agajofgiva DZj , ®k ©) PAQiUY% “¥:2€U 2ivik AgPu
1) PIUAJPU “APAz PZA) & A MzV_ ®F  r) ¥A&PUS2EL AgQ, ®k

12. Petroleum is called as 'liquid gold' because of
a). it is used in all economic activities b). the second important power resource
c). easily burning liquid d). it is made of Hydrogen and Carbon
YMABBAIAEL z8gk¥z afl JEIRgh -KPAZzg
J. _P® DydP Zli@nPU%° 8YPAIiAUIvZ. ©. JgqfAil ¥&IR +Q A¥EA®
1. j@ @iV ©kw,_ 8°lizAz za2 | r. d®d£EP 2ivi EAUA® Co®UY «itde

13. This city is called ' Manchester of India’
a). Ahamadabad Db). Kolkata c). Chennai d). Mumbai
“Agvz RAAZ  gi JAzA F £Ug2EHl PgAilivig

J. CoajziAzi ©. PEA®VA 1. ZElE r. 2MA8A

14. The good quality agricultural products are given this mark
a). Indian Standard Institution ~ b). AGMARK c). Lokayukta d). 1.S.D
aa AiEAVEILY: Uit2i12El ozdj k2 a£9gh
J. EArAILET _AAQQid A, ©. CUIRIAPI® 1. ~EAPAAIMP r. L.J.ir.

15. National Small Industries Corporation has been established to
a). To Provide Training to craftsmen
b). to provide land and shelter
c). to provide guidance to small producers
d). to help the marketing of products of small scale industries
gARAIA | PIUAJP oU2k At1z Gzt
J. PA«AdPJU vg Aw chq®i
©. Tt PUAJPU%U o@i+£ ajvi D+ggh oAq®i
1.t GvAzPjU 2iiUdz+d£ oAq®i
r. _t PUAJPUY% GVEILY: 2iAgAIP £g2l oAq®i

I1. Fill in the blanks of the following / ©ngi® _WUY%ER EP2AZ ¥zU%AZ "~ wdRiAr 5*1=5

16. The foundation for the Portuguese power in India was laid by
¥EAZISVA, g DQvP ~"za8IEAC CAQz2EM

17. The headquarters of SAARC is located in
_APid Ezg Dg%v Pbij £°z.

18. The Consumer Protection Act was passed in the year
MTITI), JRCTEBEWOT  TIFLD SQ TT 03me IR ORRIECROND.
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19. Pre monsoon rain that occurs in Kerala in April and May is called as

J ke, 2k wAUY© PAgvize ©MA2 @Y AIAEN JEkagh.
20. To supply products to the Fair price sho[ps is established.
EAAIA 7 CAUrU%U _ gPAUYER ¥/Eg:, ® aUai _A¥EAiIA-RVA
I1l.  Match the following/£A¢1 §g—ij 5*1=5
21. A B

a. The Regulating Act/gUi AnAUI #A_£ 1. Dayananda Saraswathi/zAiiAEAZ g, w
b. The Indian Council Act/ "Agvz PEa i DPi 2. Atmaram Panduranga/DvAgAA ¥AAQigAU
c. Arya Samaj/DAiid ,2iAd 3. Jyothirao Phule/e/EiwgA2i ¥i—
d. Prathana Samaj/¥Asd£A | 2iAd 4, 1773
e. Satyashodhak Samaj/_vi +EAzP _2iAd 5. 1919
6. 1909
IV. Answer the following questions in a word or a sentence each 9*1=9

F PYUVE ¥ahU MAZA 24Piz° Gvj?.

22. Which was the first princely state who joined the subsidiary Alliance ?
JChIRP _tEH ¥zwU MY 2Ez® zA2RAIA zAg AiiAgh?
23. Who introduced New Deal Policy ?
'£/EVE AIEADE' JAS DydP _izAguAilEll eAjU vAz2gh AiiAgh?
24. Which was the party built by Hilter ?
»Igi Pnz ¥P Aiii2izi?
25. What is the greatest achievement of WHO ?
«* DgEAU A AL 24CA AzE£ KEL?
26. What is the importance of Biological Weapon Convention ?
SAIIA®FP | PEIREIXEI 2¥E£( (BWC) JAzZgAEA?
27. What is OAU ?
M.J.AIR. JAZgAER?

28. What is the important feature of Mangrove forest ?
AjNAULERT Cgtilys ®PEUYAEL?

29. What is called ‘pucca road' ?
¥PA g, UYh JAZgAER?

30. What is economic planning ?
¥AZ2A6P AIEADE JAzZgAER?

V. Answer the following questions in 2 - 3 sentences 16*2=32
F PYUVE ¥aihU Jggh-2AEgh 2APiz° Gvjt.
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

What are the causes for the first Anglo Maratha war?
MAZ£A DAUEA 2igho Aillziz PAGEUYAEL?

What were the terms of the treaty of Mangalore ?
WONERTLY LTOTT ROBDRTE?

What was the impact of the growth of transport facilities on India ?
CAJU _A¥PS Pivae Az ¥bw Agvz @il Ohjz ¥@@alf£l?
Write an account on the Quit India Movement

Qmi EArAiiA Z¥@%Aik PAjvi 8g—ij.

What were the conditions of Karnataka before independence ?
KQAPgtz 2£z®k PEASIPZ 1wUwUYd ©Avzal?

What were the two important results of the first world war ?

AL ZREAIL 2iCMAIlZCAZAZ Jggh ¥JjuhRiUvid Aiikaal?

What were the aims of NAM ?

C°¥ ZVayAik GzA+UYVAER?

What is tge significance of COFEPOSA ?

PAYSEA Az ajovaiel?

What aare the functions of Economic and social Council of UNO ?
«*_A_Ail® DydP CAUE _ARAFP _ «lwAil ¥&HAR UAJUYAEL?
Why India has not signed the nuclear non-proliferaation treaty ?
“Agval CEM+Q Wi_ia M¥AZP _» ©AP¢g®i PAGERALL?

What are the differences between west coast and east coast ?

¥2aj wig ahvi ¥E25 wigUkvgia 2vA UYAER?

Which are the nuclear energy stations of India ?

“Agvz Cti+Q A2gUyd AiiAaR?

Why Jute industries are concentrated in the lower Hooghly basin of Rajastan ?
. TOE PASASEUYA ©ZAV ¥22) 8AUNz® A'v2AVgRL PAGEUYAEL?
Why air transport is not popular in India ?

DTPT OINTR) LOTTY WHEBH BIRONTWING DF?

How industries causes the development of agriculture ?
PIUAJPU%A AU 22 _fAikz° GVAzEAIM ©Z@L | CMik 2ilgiva?

Why industrial development was not satisfactiory during the 5th Five Year Plan ?
LzEAIL ¥AZ2ATOP AiEADEAIR®  PIUAJPACRIC! KP | 2iAZAEPg2AVG°®?
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VI.

47.

48.

49.

50.

51.

52.

VII.

53.

54.

55.

Answer in 6 sentences 6*3=18
F PYUVE ¥aiU Dgh 2APU%° Gvjt.

What were the causes for the decline of the French Power in India ?
¥&7g C2EwWU PAQEUVEN PEr?

What were the results of the First war of the Indian Independence ?
“Agvz AvAvie, AUlgz ¥juh2iUvd Aiiiaal?

Which are the measures taken for the welfare of women in India ?
alsyAilg AERIAEREN GvaIUEY, ®h PIUWPEY: Az _AzAguUvd AiiAaial?

What are the causes for water pollution ?
d®_A¥£AR2 OiU 2i°ALUAYIvA?

What is agriculture ? Which are the types of agriculture practiced in India ?
aa jAjh JAZgAER? "Agvz© gErAilegid ««z @3 fAik «zAEUVA Aiiiaial?

What is the importance of foreigh trade in India's economic development ?
“Agvz DydP COAGAILC «zA2 ai¥ig °Zi ¥AsHiRV ¥qt¢z. KP?

Answer the following questions in 8 to 10 sentences: 4*3=12
F PUVE ¥aUhU JABA-Ovi 24PUY° Gvjt.

Explain the non-co-operation movement .
C.OPAg ZYRYHAIAEN «2j1,

Has the foreigh policy of India is successful ? Justify.
“Agvz «zAtAAU olw | ¥@2AVz JAzA OlU | Blyd A«j?

Which are the Measures taken for the improvement of agricultural marketing system in India ?
“AgwhAiA P 2iAgiPmAiA 22 AilREN AzAj @1 PIUEAQ PEHEUYA Aiidxyal?

VIII1.56. Draw an outline map of India and mark the following 3+1=4

“"Agvz EPAILEN CAz2AV ©r1 Czg® PY%U PENgi® | YUYVEN Ulgiwt.,
a) 82 1/2 east longitude 82 1/2 ¥E25 ghSAA+

b) River Krishna 3 IO

c) Cochin PEa

*hkkkkhkkkkikkkikkikkkik
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